Chapter 19

Questions – Ratio Analysis

1.
The following two years’ financial statements related to Gotech Limited, a listed company in Hong Kong. Its major business is selling computer parts to business customers.

Income statements:

	
	1999
	1998

	
	$million
	$million

	Turnover
	1,290
	1,250

	Cost of sales
	453
	426

	Gross profit
	837
	426

	Administrative expenses
	110
	110

	Other operating expenses
	532
	524

	Finance cost
	85
	86

	Profit before tax
	110
	104

	Taxation
	10
	9

	Profit after tax
	100
	95

	Dividend paid
	100
	60

	
	0
	35


Balance sheets:

	
	1999
	1998

	
	$million
	$million
	$million
	$million

	ASSETS
	
	
	
	

	Non-current assets
	
	
	
	

	Fixtures and fittings
	
	200
	
	130

	
	
	
	
	

	Current assets
	
	
	
	

	Inventories
	200
	
	251
	

	Trade receivables
	183
	
	210
	

	Cash and cash equivalents
	5
	388
	2
	463

	
	
	
	
	

	Current liabilities
	
	
	
	

	Trade payables
	120
	
	120
	

	Dividend payable
	10
	
	10
	

	Bank overdraft
	10
	(140)
	15
	(145)

	Net current assets
	
	248
	
	318

	
	
	
	
	

	NET ASSETS
	
	448
	
	448

	
	
	
	
	

	CAPITAL AND RESERVES
	
	
	
	

	Issued capital ($1 par value each)
	
	150
	
	150

	Reserves
	
	
	
	

	Share premium
	
	120
	
	120

	Accumulated profits b/f
	
	178
	
	143

	Net profit for the year
	
	0
	
	35

	
	
	448
	
	448

	
	
	
	
	

	Stock price ($ per share)
	
	$2.00
	
	$1.50


* Assume all sales and purchases are on credit. No preference shares are issued.

The summary ratios for the years 1998 and 1999 is follows:

	
	1999
	1998

	Current ratio
	2.8
	3.2

	Quick ratio
	1.3
	1.5

	Gross profit margin
	64.9%
	65.9%

	Trading profit margin
	15.1%
	15.2%

	Return on total assets
	33.2%
	32.0%

	Return on shareholders’ capital
	
	23.2%

	Net assets turnover
	
	2.8

	Total assets turnover
	
	2.1

	Inventory turnover period
	
	236.1

	Receivable collection period
	
	62.3

	Debt ratio
	
	24.5%

	Equity ratio
	
	75.5%

	Interest cover
	
	2.2

	Dividend cover
	
	1.6

	P/E ratio
	
	2.4

	Dividend yield
	
	27%

	Earnings yield
	
	42%


Required:
(a)
Calculate the following financial ratio for the year 1999:

(i)
Return on shareholders’ capital;

(ii)
Net assets turnover;

(iii)
Total assets turnover;

(iv)
Inventory turnover period;

(v)
Receivable collection period;

(vi)
Debt ratio;

(vii)
Equity ratio;

(viii)
Interest cover;

(ix)
Dividend cover;

(x)
P/E ratio;

(xi)
Dividend yield; and

(xii)
Earnings yield.
(12 marks)

(b)
Based on the given ratios and the results in (a), prepare a brief report to comment on the financial performance of the company in 1999 with particular reference to liquidity, profitability, management efficiency, capital structure and investment etc.
(13 marks)



(Total 25 marks)
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2.
GSS Ltd is a global company. To cope with its growing business in Hong Kong, it is trying to expand its business through acquisition. Two companies trading in the same industry are up for sale. The recent financial statements of the two companies, Alpha and Beta, are as follows:

Balance sheets as at 31 December 1998

	
	Alpha
	Beta

	
	$000
	$000

	Fixed assets
	2,500
	2,900

	Current assets
	
	

	Stock
	500
	1,000

	Trade debtors
	1,500
	1,800

	Cash
	350
	60

	
	2,350
	2,860

	Less: Current liabilities
	
	

	Trade creditors
	1,550
	1,760

	Bank overdraft
	-
	100

	
	1,550
	1,860

	
	
	

	Net current assets
	800
	1,000

	
	
	

	Long term liabilities
	
	

	10% debenture 2001
	(600)
	-

	Bank loan
	-
	(1,200)

	
	(600)
	(1,200)

	
	
	

	Net assets
	2,700
	2,700

	
	
	

	Represented by:
	
	

	Ordinary share capital ($1 per share)
	1,500
	2,000

	Reserves
	1,200
	700

	Shareholders’ funds
	2,700
	2,700


Profit and loss accounts for the year ended 31 December 1998

	
	Alpha
	Beta

	
	$000
	$000

	Sales
	6,000
	7,200

	Cost of sales
	4,200
	5,040

	Gross profit
	1,800
	2,160

	Administrative expenses
	(1,440)
	(1,680)

	Loan interest
	(60)
	(180)

	Profit before tax
	300
	300

	Taxation
	50
	50

	Profit for the year
	250
	250

	Dividends
	150
	50

	Retained profit for the year
	100
	200


On 31 December 1998, the share market price of Alpha and Beta was $1.9 and $1.4 per share respectively.

Required:
(a)
The management asks you to provide the following information of the two companies for comparison:

(i)
gearing ratio;

(ii)
net trading margin;

(iii)
return on capital employed;

(iv)
return on shareholders’ funds;

(v)
assets turnover;

(vi)
earnings per shares;

(vii)
price earnings ratio; and

(viii)
interest cover.
(16 marks)

(b)
Based on the information obtained in (a), make recommendation to the management as to which company is worthwhile investing in.
(5 marks)

(c)
Advise the management what other information should be considered in analyzing the operating results and financial positions of the companies.
(4 marks)



(Total 25 marks)
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3.
The accountant of Sky River Ltd is reviewing the cash flow requirement for the coming year. However, the cash book has recently been destroyed by fire, only the following information is available.

(i)
All the sales and purchases of Sky River Ltd were on credit and were generated evenly throughout the year.

(ii)
Stocks, debtors and creditors balances on 1 July 1996 were the same as those on 30 June 1997.

(iii)
For the year ended 30 June 1997, sales and cost of sales were $12,000,000 and $7,500,000 respectively.

(iv)
Financial ratios for the year ended 30 June 1997 were as follows:

	Stock turnover period
	3 months

	Debtors collection period
	2 months

	Creditors collection period
	2 months

	Current ratio
	3.6 : 1


(v)
Current assets comprise cash, debtors and stocks only for both 1997 and 1998.

The management is targeting to increase the sales and cost of sales by 20% for the year ending 30 June 1998 so as to improve the company’s financial ratios as follows by 30 June 1998:

	Stock turnover
	5 times

	Debtors collection
	9 times

	Creditors collection
	8 times

	Quick ratio
	2 : 1


It is also expected that interest expense for the year ending 30 June 1998 will be $962,500

Required:
(a)
Calculate the following balances at 30 June 1997:

(i)
Stocks

(ii)
Debtors

(iii)
Creditors

(iv)
Cash
(4 marks)

(b)
Calculate the following balances at 30 June 1998:

(i)
Stocks

(ii)
Debtors

(iii)
Creditors

(iv)
Cash
(7 marks)

(c)
Prepare the expected cash flow from operating activities for the year ending 30 June 1998.



(9 marks)

(d)
Show the cash flow available for investing activities for the year ending 30 June 1998. Ignore tax and dividend.
(5 marks)



(Total 25 marks)
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4.
(a)
Financial statements are used by various parties to assist them in making economic decisions. To make those decisions, decision-makers analyse the financial statements. Financial statement analysis is the process of identifying significant relationships concerning the entity’s performance using various analytical techniques like the computation of financial ratios. Although ratios offer a quick and useful method of analyzing the position and performance of a business, they are not without their problems and limitations.

Required:
(i)
Briefly discuss the use of financial ratios in assessing the following aspects of business performance:

(1)
profitability,

(2)
management efficiency,

(3)
liquidity, and

(4)
capital structure.
(4 marks)

(ii)
Briefly discuss the limitations of financial ratios in financial statement analysis.



(4 marks)

(b)
Flamingo Ltd is a family-owned garment manufacturer. For a number of years the chairman and managing director of the company was David Chan. During his period of office, the company’s sales had grown steadily at a rate of between 2% and 3% each year. David retired on 30 September 1999 and was succeeded by his son Samuel. Soon after taking office, Samuel decided to expand the business. Within weeks he had successfully negotiated a five-year contract to make a range of sports and leisurewear items for a large garment retailer. The contract will result in an additional $1 million sales during each year of the contract. In order to fulfill the contract, new equipment and premises were acquired by Flamingo Ltd.

Financial information concerning the company is given below.

Income statements for the years ended 30 September

	
	1999
	2000

	
	$000
	$000

	Turnover
	18,904
	22,730

	
	
	

	Profit before interest and tax
	1,828
	2,084

	Interest charges
	(44)
	(162)

	Profit before tax
	1,784
	1,922

	Taxation
	(716)
	(770)

	Profit after tax
	1,068
	1,152

	Dividend
	(240)
	(240)

	Net profit for the year
	828
	912


Balance sheets as at 30 September

	
	1999
	1998

	
	$000
	$000
	$000
	$000

	ASSETS
	
	
	
	

	Non-current assets
	
	
	
	

	Premises (net)
	
	10,480
	
	14,720

	Plant and equipment (net)
	
	4,750
	
	8,114

	
	
	15,230
	
	22,834

	Current assets
	
	
	
	

	Inventories
	4,772
	
	6,840
	

	Trade receivables
	5,080
	
	8,560
	

	Cash
	254
	
	-
	

	
	
	10,106
	
	15,400

	Current liabilities
	
	
	
	

	Trade and other payables
	2,314
	
	4,490
	

	Taxation
	956
	
	1,010
	

	Bank overdraft
	-
	
	4,848
	

	
	
	3,270
	
	10,348

	Net current assets
	
	6,836
	
	5,052

	
	
	
	
	

	Total assets less current liabilities
	
	22,066
	
	27,886

	Non-current liabilities
	
	
	
	

	Loans
	
	(2,440)
	
	(7,348)

	Net assets
	
	19,626
	
	20,538

	
	
	
	
	

	Capital and reserves
	
	
	
	

	Issued capital
	
	4,000
	
	4,000

	Accumulated profit
	
	15,626
	
	16,538

	
	
	19,626
	
	20,538


Required:
(i)
Calculate the following ratios for each year:

(1)
net profit margin,

(2)
return on capital employed,

(3)
current ratio,

(4)
gearing ratio,

(5)
trade receivables turnover (in days), and

(6)
net asset turnover.

Show all workings and round your answers to one decimal point.
(12 marks)

(ii)
Using the above ratios, and any other ratios or information you consider relevant, comment on the results of the expansion programme.
(5 marks)



(Total 25 marks)
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5.
Ciba Ltd engages in trading activities and keeps no inventory. The capital structure of Ciba Ltd comprises 100,000 ordinary shares of $1 each issued at par and $100,000 10% debentures. Recently the market interest rate has fallen, and the Board of Directors is considering whether they should refinance the debentures by long-term bank loan.

The refinancing arrangement involves a rights issue of 25,000 new ordinary shares at a premium of $1 on each share together with a borrowing of $50,000 long-term bank loan at an interest rate of 8% per annum to repay the debentures in full.

In addition to the refinancing issue, the Board of Directors is also studying the marketing strategies.

Strategy A

A 10% increase in the selling price may lead to a drop in sales volume by 10%. As a result, the volume of purchases will also decline by 10%. Due to a lower level of purchase, the suppliers will reduce the discount offered to the company and thus lead to an increase in purchase price by 5%. The decline in operation will also lead to a drop in operating expenses by 5%.

Strategy B

A 10% decrease in the selling price may attract an increase in demand by 30%. As a result, the volume of purchases will also rise by 30%. With a higher level of purchase, the suppliers will be willing to offer a bigger discount to the company and thus the purchase price will be lowered by 5%. The increase in operation is expected to increase the operating expenses by 10%.

The profit and loss account of Ciba Ltd for the past year is extracted as follows:

	
	
	$

	Sales
	
	100,000

	Less: Cost of goods sold
	
	60,000

	Gross profit
	
	40,000

	Operating expenses
	
	20,000

	Profit before interest and tax
	
	20,000

	Interest
	
	10,000

	Net profit before tax
	
	10,000


Required:
(a)
Express the following ratios in formula:

(i)
Gross profit margin

(ii)
Net profit margin

(iii)
Interest cover

(iv)
Return on capital employed

(v)
Return on shareholders’ capital

(vi)
Gearing ratio
(6 marks)

(b)
Based on the past year figures calculate the following ratios

(i)
Gross profit margin (expressed in percentage with no decimal place)

(ii)
Net profit margin (expressed in percentage with no decimal place)

(iii)
Interest cover (expressed in no. of times with 2 decimal places)

(iv)
Return on capital employed (expressed in percentage with 2 decimal places)

(v)
Return on shareholders’ capital (expressed in percentage with 2 decimal places)

(vi)
Gearing ratio (expressed in percentage with 2 decimal places)
(3 marks)

(c)
Calculate the above ratios (i) to (vi) based on Strategy A and the existing financing arrangement.
(3 marks)

(d)
Calculate the above ratios (i) to (vi) based on Strategy A and the refinancing arrangement.



(3 marks)

(e)
Calculate the above ratios (i) to (vi) based on Strategy B and the existing financing arrangement.
(3 marks)

(f)
Calculate the above ratios (i) to (vi) based on Strategy B and the refinancing arrangement.



(3 marks)

(g)
Based on your findings from (b) to (e), comment which combination of strategy and financing arrangements is the most favourable to:

(i)
shareholders

(ii)
bank.
(4 marks)



(Total 25 marks)
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6.
The management team of Azur Ltd requires the Management Accountant to produce quarterly accounts for every 90 days. The quarterly financial statements of Azur Ltd for the first three quarters of the current year have been produced as follows.

	
	1st Quarter
	2nd Quarter
	3rd Quarter

	
	$000
	$000
	$000

	Sales
	240
	290
	280

	
	
	
	

	Opening stock
	120
	150
	140

	Purchases
	190
	220
	210

	
	310
	370
	350

	Less: Closing stock
	150
	140
	180

	Cost of sales
	160
	230
	170

	Gross profit
	80
	60
	110

	Less: Overhead
	60
	70
	80

	Net profit/(loss)
	20
	(10)
	30

	
	
	
	

	
	1st Quarter
	2nd Quarter
	3rd Quarter

	
	$000
	$000
	$000

	Fixed assets
	100
	120
	140

	Current assets
	
	
	

	Stock
	150
	140
	180

	Trade debtors
	80
	110
	150

	Cash
	20
	20
	0

	
	250
	270
	330

	Current liabilities
	
	
	

	Trade creditors
	50
	100
	100

	Bank overdraft
	0
	0
	50

	
	50
	100
	150

	
	
	
	

	Net current assets
	200
	170
	180

	
	300
	290
	320

	
	
	
	

	Share capital
	100
	100
	100

	Profit and loss account
	200
	190
	220

	
	300
	290
	320


In order to meet greater demands from customers, the company purchased new machines during the second and third quarters to increase its productivity. Based on the above financial data, the Management Accountant calculates accounting ratios, and prepares quarterly reports accordingly.

	
	1st Quarter
	2nd Quarter
	3rd Quarter

	Profitability
	
	
	

	Gross profit ratio
	33.3%
	20.7%
	39.3%

	Net profit/(loss) margin
	8.3%
	(0.3%)
	10.7%

	Return on share capital
	20.0%
	(10.0%)
	30.0%

	Return on fixed asset employed
	20.0%
	(8.3%)
	21.4%

	Liquidity
	
	
	

	Current ratio
	5.0:1
	2.7:1
	2.2:1

	Liquid ratio
	2.0:1
	1.3:1
	1.0:1

	Asset Management
	
	
	

	Creditors payment period
	24 days
	31 days
	43 days

	Debtors collection period
	30 days
	29 days
	42 days

	Stock turnover
	1.19 times
	1.59 times
	1.06 times


The management team is curious about the fluctuations in profits over the quarters and instructs the Internal Auditor to investigate. The Internal Auditor identifies that during the second quarter a purchase of $30,000 was double-counted resulting in both stock purchases and trade creditors overstated by $30,000. This error was carried forward to the third quarter without being adjusted.

Required:
(a)
Redraft the second and third quarters financial statements of Azur Ltd taking into account the adjustment on the error identified by the Internal Auditor.
(6 marks)

(b)
Recalculate the accounting ratios for the second and third quarters after adjusting for the error.
(11 marks)

(c)
Briefly comment on the profitability, liquidity and asset management of Azur Ltd based on the revised accounting ratios over the first three quarters of the current year.
(8 marks)



(Total 25 marks)
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7.
Parker Ltd is the holding company of two subsidiaries, AB Ltd and PT Ltd. Both companies operate in the same industry and same market, they have similarities in many respects. The financial controller of Parker Ltd is going to retire in December 1996, thus the board of directors of Parker Ltd is looking for a replacement. It has been decided to elect the subsidiary’s financial controller who has demonstrated the greater improvement in cost control and asset management over the past years.

The financial statements of AB Ltd and PT Ltd for 1994 and 1995 are shown (in millions of dollars) as follows:

Balance sheets

	
	AB Ltd
	PT Ltd

	
	1994
	1995
	1994
	1995

	
	$m
	$m
	$m
	$m

	Fixed assets
	680
	810
	700
	800

	Current assets
	
	
	
	

	Stocks (Note 1)
	80
	90
	80
	320

	Debtors
	250
	200
	230
	350

	Cash
	150
	70
	130
	30

	
	480
	360
	440
	700

	Current liabilities
	
	
	
	

	Creditors
	160
	170
	140
	500

	Net current assets
	320
	190
	300
	200

	
	
	
	
	

	Net assets employed
	1,000
	1,000
	1,000
	1,000

	
	
	
	
	

	Capital employed
	1,000
	1,000
	1,000
	1,000


Profit and loss accounts

	
	AB Ltd
	PT Ltd

	
	1994
	1995
	1994
	1995

	
	$m
	$m
	$m
	$m

	Sales
	1,000
	1,100
	1,000
	1,400

	Cost of sales (Note 2)
	200
	200
	200
	420

	Gross profit
	800
	900
	800
	980

	Salaries
	150
	160
	140
	200

	Overheads
	200
	220
	210
	300

	Administrative expenses
	150
	160
	120
	185

	Selling expenses
	100
	110
	100
	170

	Net profit
	200
	250
	230
	125

	Dividend paid
	-
	250
	-
	125

	Retained profit
	200
	-
	230
	-


Note 1. Both AB Ltd and PT Ltd had $80 million stocks by end of 1993.

Note 2. The cost of sales figures include purchases (in million of dollars) as follows:

	
	1994
	1995

	AB Ltd
	$200
	$210

	PT Ltd
	$200
	$660


Required:
Prepare a report to the board of directors of Parker Ltd analyzing the performance of both companies with the use of the following ratios and recommend one of the controllers for the board appointment:

	
	AB Ltd
	PT Ltd

	
	1994
	1995
	1994
	1995

	Return on assets employed
	
	
	
	

	Net profit margin
	
	
	
	

	Capital turnover
	
	
	
	

	Stock turnover
	
	
	
	

	Debtors ratio (month)
	
	
	
	

	Creditors ratio (month)
	
	
	
	

	Current ratio
	
	
	
	

	Liquid ratio
	
	
	
	

	Cost of sales/Sales
	
	
	
	

	Salaries/Sales
	
	
	
	

	Overheads/Sales
	
	
	
	

	Administrative expenses/Sales
	
	
	
	

	Selling expenses/Sales
	
	
	
	



(Total 25 marks)
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8.
You are the Financial Controller of Merry Limited. Merry Limited is planning to acquire another company, Happy Limited. To facilitate their decisions, you are asked by the Board of Directors to provide information and comments on the financial position of Happy Limited. The balance sheets and income statements of Happy Limited for the years ended 31 December 2003 and 2004 are as follows:

Happy Limited

Income statement for the year ended 31 December

	
	2004
	2003

	
	$000
	$000

	Revenue
	31,450
	24,050

	Cost of sales
	(22,015)
	(17,797)

	Gross profit
	9,435
	6,253

	Distribution costs
	(740)
	(851)

	Administrative expenses (1)
	(1,184)
	(1,425)

	Other operating expenses
	(222)
	(185)

	Profit before tax
	7,289
	3,792

	Income tax expense
	(1,739)
	(648)

	Profit after tax
	5,550
	3,144

	Dividend paid
	(3,330)
	0

	Profit for the year
	2,220
	3,144


Notes:

(1)
Interest expenses of $74,000 and $18,500 for the years ended 31 December 2004 and 2003 respectively are included in administrative expenses.

(2)
All purchases and sales are on credit.

Happy Limited

Balance sheet as at 31 December

	
	2004
	2003

	ASSETS
	$000
	$000

	Non-current assets
	
	

	Property, plant and equipment
	15,244
	7,400

	
	
	

	Current assets
	
	

	Inventories
	1,369
	888

	Trade receivables
	3,552
	2,220

	Cash and cash equivalents
	0
	925

	
	4,921
	4,033

	
	
	

	Total assets
	20,165
	11,433

	
	
	

	EQUITY AND LIABILITIES
	
	

	Equity attributable to equity holders
	
	

	Share capital
	1,850
	370

	Share premium
	740
	0

	Revaluation reserve
	0
	2,590

	Retained earnings
	11,100
	6,290

	Total equity
	13,690
	9,250

	
	
	

	Non-current liabilities
	
	

	Long-term borrowings
	1,850
	0

	Total non-current liabilities
	1,850
	0

	
	
	

	Current liabilities
	
	

	Trade payables
	3,811
	2,183

	Bank overdraft
	814
	0

	Total current liabilities
	4,625
	2,183

	
	
	

	Total equity and liabilities
	20,165
	11,433


Required:
(a)
Discuss the difficulties of using ratio analysis as a tool for investors.
(6 marks)

(b)
Calculate the following ratios for 2003 and 2004:

(i)
Return on capital employed

(ii)
Net assets turnover

(iii)
Net profit margin

(iv)
Current ratio

(v)
Quick ratio

(vi)
Inventory turnover

(vii)
Accounts receivable collection period

(viii)
Accounts payable payment period

Note: Your answers should be rounded up to 2 decimal points.
(8 marks)

(c)
From the information given in the question and with the aid of the results in (b), comment on the profitability, liquidity, gearing and the overall financial position of Happy Limited.
(11 marks)



(Total 25 marks)
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9.
Park Ltd., a logistic company, is considering to expand its operation through acquisition and the company has identified two potential targets for the purpose – Bay Ltd. and Sea Ltd. Park Ltd. focuses on serving high end clients and places a lot of emphasis on services. Park Ltd. wishes to acquire a low risk company with a similar business strategy. Based on the latest published financial reports and information, the accountant of Park Ltd. has calculated the following ratios for comparison:
	
	Bay Ltd.
	Sea Ltd.

	Return on capital employed
	30%
	24%

	Gross profit margin
	22%
	32%

	Net profit margin
	15%
	20%

	Net assets turnover
	2 times
	1.2 times

	Debtors collection period
	60 days
	45 days

	Accounts payable period
	40 days
	50 days

	Current ratio
	0.9
	1.8

	Gearing ratio
	35%
	20%


Required:

(a)
Explain the limitations and usefulness of ratio analysis based on published financial reports.
(10 marks)

(b)
Evaluate the financial performance of Bay Ltd. and Sea Ltd. and advise which of the two companies is a more desirable takeover target for Part Ltd.

Your evaluation and analysis should cover the followings:

Profitability;

Return on capital employed;

Working capital management and liquidity, and;

Gearing ratio.


(15 marks)


(Total 25 marks)


(HKAAT Paper 7 Financial Accounting June 2009 C3)

Q19-17

